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1
Introduction
In section 5.1.3.2.3 of TS36.322, the condition of triggering T_reordering is:
· if the VR (H) > VR(R):

· start T_reordering;

· set VR(X) to VR(H).

However in section 5.1.3.2.4, the condition of triggering T_reordering is:
· if the VR (H) > VR(MS):

· start T_reordering;

· set VR(X) to VR(H).

It could be concluded that for a missing PDU below VR(MS) different processings will be done. This contribution points out one such case.

2
Example case
Assume the following chain of events.
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At time t1, PDU 3 is received. VR(R) = VR(MS) = 2, VR(H) = 4. T_reordering is started and VR(X) = 4.
At time t2, T_reordering expires. VR(R) = 2, VR(MS) = VR(H) = 4, VR(X) = Null. PDU2 is reported as missing PDU. According to section 5.1.3.2.4, T_reordering is not triggered for PDU2 any more.

At time t3, PDU4 is received. VR(R) = 2, VR(MS) = VR(H) = 5. According to section 5.1.3.2.3, T_reordering is started for PDU2.

In this case, for the PDU2 which is a detected missing PDU below VR(MS), two different processings will cause confusion.
3
Conclusion
We propose to uniform the conditions of triggering T_reordering.
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